Unit 8.5 Review Guide Solving & Graphing Inequalities    Name:____________________________
.
Graph the inequality.
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2.  c > 3
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3.  h < -5
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4.  x 
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6.  -8 
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Graph the inequality.


7.  3x -2y < 14





8.  -5x + 5y 
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9.  -6x -3y 
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10.  3x -4y < -12
Write a linear inequality to represent the graph.
11.
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14.  
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Determine if the given coordinate is a solution of the linear inequality.

16.  (4, 7)
y< -2x + 3 




17.  (-2, 3) 
y > 2x + 6

18.  (-1, 3) 
y 
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 -4x -1




19.  (5, 5) 
2y 
[image: image19.wmf]£

 -3x +25

Write an inequality to model the situation.

20. Parrish can type at least 55 words per minute.


21. Trey can type at most 70 words per minute.

22. Kit earns at least $15 per hour mowing grass.

23. Avery earns up to $45 per hour tutoring.

24. Melinda goes to Five Guy’s to buy her friends some burgers and fries, she has soda at home.  She has $30.  She is only going to buy cheeseburgers and large fires.  A cheeseburger (c) is selling for $4 and a large fry (f) is selling for $3.  Write an inequality to represent the combinations that Melinda can purchase.
25. Nick is going to buy some new work-out clothes for basketball, his mom bought him new sneakers for his birthday and his dad gave him $200 for clothes.  He is only going to buy shorts (s) and t-shirts (t).  Nike t-shirts are on sale for $15 and shorts are on sale for $20.  Write an inequality to represent the combinations that Nick can purchase.

Solve & graph each inequality on the number line.
26.  9x  < 27
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27. -4x 
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28.  –2x – 9 < 1
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29.  –y – 3 > 4
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30.  10d - 6 [image: image25.png]


 12d + 10
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31.  -2c - 5 > -5c -20
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Graph the inequality.
32.  y > -2x + 3
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a)  Is (-2, 4) a solution to the inequality from question #32?


b)  Is (1, 1) a solution to the inequality from question #32?

33.
-3y > 9x – 3
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a)  Is (1, 0) a solution to the inequality from question #33?



b)  Is (1, -3) a solution to the inequality from question #33?

34.  -4x + 2y [image: image30.png]
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a)  Is (-2, 1) a solution to the inequality from question #34?



b)  Is (3, -3) a solution to the inequality from question #34?
35.  You are planning a party at video game arcade that charges a basic fee of $10 and $6.00 per person for catered parties. You don’t want to spend more than $150.00. 

a)  Write and solve the inequality to represent the situation.



b)  What is the maximum number of people that can attend the party?

36.  The Basketball Team is hosting a basketball tournament. They would like to provide bananas and apples for their competitors. Bananas cost $2 a bunch and apples cost $3 for a jumbo bag. The Basketball Team can spend at most $12 on these supplies.
a)  Let x = number of bunches of bananas. Let y = number of bags of apples. Write a linear inequality to represent the situation.





b)  Graph the linear inequality that represents this situation.




[image: image32.emf]12345678910 –1 –2 –3 –4 –5 –6 –7 –8 –9 –10 x

1

2

3

4

5

6

7

8

9

10

–1

–2

–3

–4

–5

–6

–7

–8

–9

–10

y


c) Can the Basketball Team buy four bunches of bananas and two bags of apples?
d) Can the Basketball Team buy two bunches of bananas and two bags of apples?

37.  The drama club is selling tickets to the upcoming show.  Tickets are $10 each.  They want to make at least $750. 








a)  Write and solve an inequality to represent the situation.




b)  What is the minimum number of tickets they need to sell to reach their goal? 

38.  Edy solved –5x > 120 by subtracting 5 from each side of the inequality. What mistake did he make?

39.  Adam solved -3y < -12 by dividing by 3 from each side of the inequality.  What mistake did he make?
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